
ISO INSTALLED VIEW
(STRAIGHT SECTION)

HEX HEAD
CAP SCREW

GROUND CLAMP
SEE NOTE 1

FLAT WASHER

SERRATED
FLANGE HEX NUT

GROUND CLAMP

ISO INSTALLED VIEW
(FITTINGS)

CHANNEL NUT

SQUARE WASHER

GROUND CLAMP
SEE NOTE 1

HEX HEAD
CAP SCREW

NOTES:
  1) ACCEPTS #6 AWG TO 250 MCM.
  

SERIES
TTA = TOUGHTray

ACCESSORIES

TYPE
GRNDCLMP =

GROUND CLAMP

TTA - GRNDCLMP

PATENT PENDING

NOTES:
  1) DIMENSIONS SHOWN ARE IN INCHES UNLESS OTHERWISE NOTED.
  2) ALL DIMENSIONS SHOWN ARE NOMINAL.
  3) SUPPLIED IN PAIRS COMPLETE W/ HARDWARE.
  4) PROVIDE SUPPORT WITHIN 2FT OF EACH SIDE OF THE UNIVERSAL ADAPTER SPLICE.

HARDWARE INCLUDED:
 

-  (1EA) TA25HX100-S6
   1/4 X 1 HEX HEAD CAP SCREW

-  (1EA) TF25WSQ-AL
   1/4 SQUARE WASHER

-  (1EA) TA25NC-S6
   1/4 CHANNEL NUT

-  (1EA) TA25W-S6
   1/4 FLAT WASHER

-  (1EA) TA25FNHX-S6
   1/4 SERRATED
   FLANGE HEX NUT

 20NOV2023

 JDG  23OCT2023

DRAWN BY/DATE:

APPROVED BY/DATE:
 LW

TTA-GRNDCLMP
TTA GROUND CLAMP

SIZE:

SCALE:

NTS

B
CTI-S48157_A

Monday, November 20, 2023 10:18:34 AMCAD SAVE DATE:

DWG. NO.:
CTI-S48157

CAD FILE NAME:

REV:
B

1 OF 1

PROPRIETARY AND CONFIDENTIAL.THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF CT INNOVATIONS.  ANY REPRODUCTION IN PART OR AS A WHOLE 
WITHOUT THE WRITTEN PERMISSION OF CT INNOVATIONS IS PROHIBITED.

SHEET:

TITLE:

A A

B B

C C

D D

E E

F F

6

6

5

5

4

4

3

3

2

2

1

1


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10
	Drawing View11
	Drawing View12


